TK060.705 Wall Mounted Module

TX30 Swa4
S

)
,,//I

This part will be positioned as in the figure

Mounting View
Bu kisim sekildeki gibi konumlanacaktir

Montaj Gorintimu

=NV
AN

N

T
|

y \S\ | |
Lyl

Box Cpntents
Kutu Igerigi

4x  [[nmmm M6x30
30
2x  [Jmmp M6x20
4 © 16.4(M6) U U
ADAMMDDD DN

The product can rotate to +/-90° angles as follows when first out of the box
Urlin kutudan ilk ¢iktiginda agagidaki gibi +/-90° agilara dénebilir

Angle can be set with M8x12 bolts (30f’ between two holes)
M8x12 civatalar ile agi ayari yapilabilir (Iki delik arasi 30°)

*20 Nm

Scan for the installation manual
Kurulum kilavuzu igin tarayin

Mounting dimensions
Montaj dlglleri

i i o
® 3
,,
‘ L— 50 | 29/M8
| 92

@ d(UL)us ENCLACE.

LISTED

*M8 bolts in the image number 8 are not included in the box contents.
*8 numarall gorselde bulunan M8 civatalar kutu igerigine dahil degildir.

https://teknokol.com +90 224 443 2318

@

@ teknokol@teknokol.com

<

Kayapa, Karanfil Cad Kayapa Sanayi Bolgesi
No:6, 16315 Nillfer/Bursa

TEKNOKOL

Support Arm and Control Panel Systems



